M s Patil bought 4 packs of pencilsfor her class.Then she bought 3 more
packs of pencils. Thereare 12 pencilsin a pack. How many pencilsdid she
buy?

Total of 7 packs. 12 pencilsin apack. 7x12 = 84
Which table shows a proportional relationship between x andy? A. X 46 8 10
.Y 681012

B.X2356
Y3479

C.X15810
.Y 1575120 150

D.X391015
Y1345

No Brain Only 10Points): (I'm Low on points currently)

Raul went to see his doctor because he has difficulty maintaining an erection. raul was diagnosed with:

A sguare has an area of A sguare centimeters. For which value of A does a square have aside length that isarational number? A. 121
B. 145

C. 168

D. 200

In 1700, which of the following colonies had the largest slave population relative to its overall population? a. South Carolina
b. Pennsylvania

c. Virginia

d. Massachusetts

PLEASE HEL P! Which of the following best explains why zoos are not affected by the threat of new entrants?

A) Customers do not have replacement activities.

B) Starting a zoo has a high entry cost.



C) Substitutes for attending the zoo are much lower quality.

D) The zoo industry is growing rapidly.

Any law that attempts aracial or ethnic classification is subject to the a. reasonable basis test.

b. strict scrutiny test.

c. intermediate scrutiny test.

d. precedent basis test.

e. clear and present danger test.

Please help I’'m behind and | would appreciate it... Identify the requirements of HIPPA with regard to written communication and documentation in amedical
office.

Create a one page plan that defines the HIPAA of 1996 and outlines the steps a medical assistant an game the ensure HIPAA compliance in the handling of
patient information.

In the market, actions known as incentives affect

Which sentence uses capitalization correctly? Our teacher, Mr. Sanchez, said, “ Thisis a photo of the statue of liberty.” Our teacher, mr. sanchez, said, “Thisisa
photo of the Statue of Liberty.” Our teacher, Mr. Sanchez, said, “thisis a photo of the Statue of Liberty.” Our teacher, Mr. Sanchez, said, “ Thisis a photo of the
Statue of Liberty.”

Why did Ezra Pound reduce "In a Station of the Metro" from 30 lines to two?

Wilder Company manufactures two models of its banjo, the Basic and the Luxury. The Basic model requires 10,000 direct labor hours and the Luxury requires
30,000 direct labor hours. The company produces 3,400 units of the Basic model and 600 units of the Luxury model each year. The company inspects one Basic
for every 100 produced, and inspects one Luxury for every 10 produced. The company expects to incur $84,600 of total inspecting costs this year. How much of
the inspecting costs should be allocated to the Basic model using ABC costing?

What is the slope between the points (8, -2) and (-7, 10)

If we burn you burn with us -Katniss Everdeen

Question:

Why you think it was important to them.

What does it mean to you??

Why would monasteries be important to the development of Europe? What did the monastery emotionally provide for the people?
The original pair of shoesis $42 the sale price is 20% off the original price what is the amount off the original price
Which of the following is NOT areason that private firms do not provide public goods? A. the free-rider problem
B. public goods are unprofitable

C. the price system doesn't assign the cost of public goodsto al

CoNsuMmers

D. the government refuses to grant subsidies to firms who provide public

goods



There are 8 88 employees on The Game Shop's sales team. Last month, they sold atotal of g gg games. One of the sales team members, Chris, sold 17 1717
fewer games than what the team averaged per employee. How many games did Chris sell? Write your answer as an expression
one of the areas of health youre focusing on is to have a more nutritious diet what is the goal in nutrition

1. Home
2. More Solution
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